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GCSE Exam Questions: Simple and Compound Interest

1) (a) £1400 is invested for 3 years.

Interest Rate A: 2.4% compound interest per annum

Interest Rate B: 0.2% simple interest per month

Which interest rate would return the greatest amount of interest?

“4)
(b) After 5 years with interest rate B, the interest accumulated was £360.
What was the initial amount invested?
(2)
(6 marks)
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GCSE Exam Questions: Simple and Compound Interest

2) (a) The value of an investment reaches £17000. A change in the stock market causes the
investment to reduce with a simple interest rate of 3% per hour.

What is the value of the investment after 3 hours?

(2)
(b) The stock market becomes stable and the investment now increases by a compound interest
rate of 0.6% per annum. Assuming this rate continues, what would the value of the investment
be after a further 8 years?
(2)
(4 marks)
3) Two different furniture stores have an offer.
Eat-sy Dine Deluxe
Save £45 Save 15%
(a) If you could buy the same dining table from each store, what value would
the item need to be to save the same amount of money?
(2)
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GCSE Exam Questions: Simple and Compound Interest

b) A set of 4 dining chairs in Dine Deluxe are bought using a credit card. The original price was
£220. The credit card applies a 1.2% interest charge per year. If the item was fully paid for after

1 year, how much money would be saved, compared to the original amount?

3)
(5 marks)
4) (a) The population of bacteria in a petri dish surpasses 2 million. If the population of
bacteria expands at a compound rate of 1.7% per minute. How many bacteria are
expected in the petri dish after 5 minutes?
2
(b) How long will it take for the population to exceed 25000002
2
(4 marks)
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GCSE Exam Questions: Simple and Compound Interest Answers
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Question Answer Marks
1) (a) | £1400 is invested for 3 years. Which interest [ Interest Rate A: 1400 X 1.0243 1)
rate would return the greatest amount of
interest? £1503.24 €))
Interest Rate A: 2.4% compound interest per
annum Interest Rate B: 1400X(1+( 0.2X3X12)) €))
Interest Rate B: 0.2% simple interest per 100
month £1500.80 1)
(b) | After 5 years with interest rate B, the interest | 360 /(0.002x5 x12) 1)
accumulated was £360. What was the initial
amount invested? £3000 1)
2) (a) | The value of an investment reaches £17000. £17000x(1 -x 0.033) 1)
A change in the stock market causes the
investment to reduce with a simple interest
rate of 3% per hour. What is the value of the [ £15470 1)
investment after 3 hours?
(b) | The stock market becomes stable and the 15470 X 1.006® 1)
investment now increases by a compound
interest rate of 0.6%. Assuming this rate £16228.34 1)
continues, what would the value of the
investment be after a further 8§ years?
3) (a) | Two different furniture stores have an offer. £45=15% 1)
£3=1%
Eat-sy Dine Deluxe
Save 6 save 19% £300=100% or £300 1)
If you could buy the same dining table from
each store, what value would the item need to
be to save the same amount of money?
(b) | A set of 4 dining chairs in Dine Deluxe is 220x0.85=£187 1)
bought using a credit card. The original price
was £220. The credit card applies a 1.2% 187x1.012 =£189.24 1)
interest charge per year. If the item was fully
paid for after 1 year, how much money would [ 220 - 189.24 = £30.76 saved 6}
be saved, compared to the original amount?
4) (a) | The population of bacteria in a petri dish 2000000 x 1.017° )
surpasses 2 million. If the population of
bacteria expands at a compound rate of 1.7% | 2175879 1)
per minute. How many bacteria are expected
in the petri dish after 5 minutes?
(b) | How long will it take for the population to At least 2 attempts of 1)
exceed 25000007 2000000 < 1.017" seen
n = 14 minutes 1)

thirdspacelearning.com

Helping schools close the maths attainment gap through targeted one to one teaching and flexible resources

4



Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning |GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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